								1		g - USD	Updated: January 7, 2
					Wort			L		Product	
oduct No.	Supplier	Product	Origin	Barley Variety	Color (°L)	Amount	UOM	Container	Price	Price	Description
ASE MALTS - US / Can	nadian <b>V</b>										
ROW-RAHR-1	Rahr Malt	Standard 2 Row Malt	US	2 Row Barley	1.7 - 2.0	1	Lbs	Poly Bag	\$ 1.99	\$ 1.99	Rahr Standard 2-Row is a light-colored base malt made fr a blend of North American 2-Row barley varieties. Darke
ROW-RAHR-5	Rahr Malt	Standard 2 Row Malt	US	2 Row Barley	1.7 - 2.0	5	Lbs	Poly Bag	\$ 1.79	\$ 8.95	than most lager malts, but lighter than most pale ale malts
ROW-RAHR-13.75	Rahr Malt	Standard 2 Row Malt	US	2 Row Barley	1.7 - 2.0	13.75	l be	Poly Bag	\$ 1.69	\$ 23.24	has moderate protein levels, and high extract yield. Its neutral characteristics make it extremely versatile, and it i
											widely used by North American craft breweries as their
	Rahr Malt	Standard 2 Row Malt	US	2 Row Barley	1.7 - 2.0	27.5		Sack	\$ 1.69		standard base malt for any beer style. Malted in Shakope
ROW-RAHR-55	Rahr Malt	Standard 2 Row Malt	US	2 Row Barley	1.7 - 2.0	55	Lbs	Sack	\$ 1.200	\$ 65.98	Minnesota, USA.
ROW-CMC-1	Canada Malting	CMC 2 Row Malt	Canada	Canada 2 Row Barley	1.7 - 2.0	1	Lbs	Poly Bag	\$ 1.99	\$ 1.99	-
ROW-CMC-5	Canada Malting	CMC 2 Row Malt	Canada	Canada 2 Row Barley	1.7 - 2.0	5	Lbs	Poly Bag	\$ 1.79	\$ 8.95	The perfect base malt for all beer styles. Excellent
ROW-CMC-13.75	Canada Malting	CMC 2 Row Malt	Canada	Canada 2 Row Barley	1.7 - 2.0	13.75	Lbs	Poly Bag	\$ 1.69	\$ 23.24	fermentability. High extract. Malted in Calgary, Alberta,
ROW-CMC-27.5	Canada Malting	CMC 2 Row Malt	Canada	Canada 2 Row Barley	1.7 - 2.0	27.5	Lbs	Sack	\$ 1.69	\$ 46.48	Canada.
		CMC 2 Row Mait		Canada 2 Row Barley				Sack	\$ 1.133		
	Canada Malting Prairie and Proximity 2-Row m	alts may also be in stock at the Fenton shop	Canada at similar prici		1.7 - 2.0	55	Lbs	Sack	\$ 1.133	\$ 62.32	
T								1		1	
ALE-BRIES-1	Briess Malt	Pale Ale Malt	US	US 2 Row Barley	3.5 SRM	1	Lbs	Poly Bag	\$ 2.09	\$ 2.09	-
ALE-BRIES-5	Briess Malt	Pale Ale Malt	US	US 2 Row Barley	3.5 SRM	5	Lbs	Poly Bag	\$ 1.89	\$ 9.45	Use as a rich malty brewers malt. A fully modified, high
ALE-BRIES-12.5	Briess Malt	Pale Ale Malt	US	US 2 Row Barley	3.5 SRM	12.5	Lbs	Poly Bag	\$ 1.79	\$ 22.38	22.38 extract, low protein malt, Briess Pale Ale is not just a dark brewers malt. Malted in Manitowoc, Wisconsin.
ALE-BRIES-25	Briess Malt	Pale Ale Malt	US	US 2 Row Barley	3.5 SRM	25	Lbs	Sack	\$ 1.79	\$ 44.75	
	Briess Malt	Pale Ale Malt	US	US 2 Row Barley	3.5 SRM		Lbs	Sack	\$ 1.140		
	Great Western	Pale High Color Ale Malt	PNW, US	US 2 Row Barley	2.7 - 3.3 SRM		Lbs	Poly Bag	\$ 1.89		Step right up to the bold, rich, malty character of Pale Hig
AHC-GW-13.75	Great Western	Pale High Color Ale Malt	PNW, US	US 2 Row Barley	2.7 - 3.3 SRM	13.75	Lbs	Poly Bag	\$ 1.79	\$ 24.61	Color. A better backbone for bigger beers, it balances
AHC-GW-27.5	Great Western	Pale High Color Ale Malt	PNW, US	US 2 Row Barley	2.7 - 3.3 SRM	27.5	Lbs	Sack	\$ 1.79	\$ 49.23	bitterness and hop-forward profiles. Malty, sweet and cle
AHC-GW-55	Great Western	Pale High Color Ale Malt	PNW, US	US 2 Row Barley	2.7 - 3.3 SRM	55	Lbs	Sack	\$ 1.219	\$ 67.05	
ROW-RAHR-1	Rahr Malt	Standard 6 Row Malt	US	6 Row Barley	2.0 - 2.5	1	Lbs	Poly Bag	\$ 1.99	\$ 1.99	
ROW-RAHR-5	Rahr Malt	Standard 6 Row Malt	US	6 Row Barley	2.0 - 2.5	5	Lbs	Poly Bag	\$ 1.79	\$ 8.95	
ROW-RAHR-13.75	Rahr Malt	Standard 6 Row Malt	US	6 Row Barley	2.0 - 2.5	13.75	l hs	Poly Bag	\$ 1.69	\$ 23.24	The preferred base malt optimized for high adjunct-based American lager and wheat beers.
											American lager and wheat beers.
	Rahr Malt	Standard 6 Row Malt	US	6 Row Barley	2.0 - 2.5	27.5		Sack	\$ 1.69	\$ 46.48	-
ROW-RAHR-55 anada Malting 6-Row a	Rahr Malt also in stock.	Standard 6 Row Malt	US	6 Row Barley	2.0 - 2.5	55	Lbs	Sack	\$ 1.200	\$ 65.98	
		I						r		r	I
PILS-PM-5	Prairie Malt	Select Pils Malt	Canada	Canada 2 Row Barley	1.4 - 1.8	5.0	Lbs	Poly Bag	\$ 1.89	\$ 9.45	Made with premium 2 Row Canadian barley, this extraordinary malt features lower protein and color than our other base malts and
PILS-PM-12.5	Prairie Malt	Select Pils Malt	Canada	Canada 2 Row Barley	1.4 - 1.8	12.5	Lbs	Poly Bag	\$ 1.79	\$ 22.38	consequently is an ideal choice for brewing Pilsners, Light Lagers, an other recipes where low color and protein is desired. With flavors and
PILS-PM-25	Prairie Malt	Select Pils Malt	Canada	Canada 2 Row Barley	1.4 - 1.8	25	Lbs	Sack	\$ 1.79	\$ 44.75	aromas that possess more of a distinctive elegance than your average
	Prairie Malt	Select Pils Malt		Canada 2 Row Barley	1.4 - 1.8		Lbs	Sack	\$ 1.246		base malt, Prairie Select tastes as profound as it performs. Use Prair Select to brew beers with efficiency, consistency and character.
			Canada								
	Briess Malt	Pilsen Malt	US	US 2 Row Barley	1.2		Lbs	Poly Bag	\$ 1.99		8.95 Exceptionally light colored base malt that produces a very ligh colored, clean, crisp wort.
PILS-BRIES-5	Briess Malt	Pilsen Malt	US	US 2 Row Barley	1.2	5	Lbs	Poly Bag	\$ 1.79	\$ 8.95	
PILS-BRIES-12.5	Briess Malt	Pilsen Malt	US	US 2 Row Barley	1.2	12.5	Lbs	Sack	\$ 1.69	\$ 21.13	
	Prairie Malt	Pilsen Malt	US	US 2 Row Barley	1.2	25	Lbs	Sack	\$ 1.69	\$ 42.25	
ILS-BRIES-25											
	Prairie Malt	Pilsen Malt	US	US 2 Row Barley	1.2	50	Lbs	Sack	\$ 1.199	\$ 59.95	

DIST-CM-5	Canada Malting	Bourbon Malt	Canada	Canada 6 Row Barley	1.9 - 2.5 SRM	5	Lbs	Poly Bag	\$	1.79	8.95	
DIST-CM-13.75	Canada Malting	Bourbon Malt	Canada	Canada 6 Row Barley	1.9 - 2.5 SRM	13.75	Lbs	Poly Bag	s	1.69	22274	A classic North American distilling malt.
DIST-CM-27.5	Canada Malting	Bourbon Malt	Canada	Canada 6 Row Barley	1.9 - 2.5 SRM	27.5	Lbs	Sack	\$	1.69		High in diastatic power and alpha-amylase, this malt is a real enzyme powerhouse.
DIST-CM-55	Canada Malting	Bourbon Malt	Canada	Canada 6 Row Barley	1.9 - 2.5 SRM	55	Lbs	Sack	\$ 1	.279	\$ 70.35	

Rahr Distillers Malt are also available at the Fenton shop.

#### Missouri Malt and Mill - Stocked Malts, Honey, Sugars and Spices Price Sheet

- Freshness Guaranteed -

WW-PROX-1	Proximity Malt	White Wheat Malt	US	White Wheat	3.0	1	Lbs	Poly Bag	\$	1.99	\$	1.99	
WW-PROX-5	Proximity Malt	White Wheat Malt	US	White Wheat	3.0	5	Lbs	Sack	\$	1.79	\$	8.95	Wheat may be used in amounts up to 60% in creating many
WW-PROX-13.75	Proximity Malt	White Wheat Malt	US	White Wheat	3.0	13.8	Lbs	Poly Bag	\$	1.69	\$	23.24	styles of wheat beer and in smaller amounts (5-10%) to aid
WW-PROX-27.5	Proximity Malt	White Wheat Malt	US	White Wheat	3.0	27.5	Lbs	Sack	\$	1.69	\$	46.48	in head retention.
WW-PROX-55	Proximity Malt	White Wheat Malt	US	White Wheat	3.0	55	Lbs	Sack	\$	1.112	\$	61.15	
RW-RAHR-1	Rahr Malt	Red Wheat Malt	US	Hard Red Winter	3.0 - 3.5	1	Lbs	Poly Bag	\$	1.99	s	1.99	
RW-RAHR-5	Rahr Malt	Red Wheat Malt	US	Hard Red Winter	3.0 - 3.5	5		Poly Bag	s	1.79	s	8.95	
RW-RAHR-13.75	Rahr Malt	Red Wheat Malt	US	Hard Red Winter	3.0 - 3.5	13.75		Poly Bag	s	1.69			US hard red winter wheat. Has a rich wheat flavor. Use up to 60% in wheat beers and in smaller amounts (5-10%) to aid in
RW-RAHR-27.5	Rahr Malt	Red Wheat Malt	US		3.0 - 3.5	27.5		Sack	s	1.69		23.24 60% in wheat beers and in smaller amounts (5 -10%) to aid in 46.48 69.16	
RW-RAHR-55	Rahr Malt	Red Wheat Malt			3.0 - 3.5		Lbs	Sack	\$	1.257			

MUN10-BRIES-1	Briess Malt	Bonlander Munich Malt	US	US 2 Row Barley	10	1 LI	.bs I	Poly Bag	\$ 2.1	9 \$	2.19	
MUN10-BRIES-5	Briess Malt	Bonlander Munich Malt	US	US 2 Row Barley	10	5 LI	.bs I	Poly Bag	\$ 1.9	9 \$	9.95	This is a European-style Munich Malt with a clean, malty flavor. It
MUN10-BRIES-12.5	Briess Malt	Bonlander Munich Malt	US	US 2 Row Barley	10	12.5 LI	.bs I	Poly Bag	\$ 1.8	9 \$	23.63	This is a European-style Munich Malt with a clean, malty flavor. It works great for any beer that benefits from enhanced malty flavor.
MUN10-BRIES-25	Briess Malt	Bonlander Munich Malt	US	US 2 Row Barley	10	25 LI	.bs	Sack		9 \$	47.25	flavor.
MUN10-BRIES-50	Briess Malt	Bonlander Munich Malt	US	US 2 Row Barley	10	50 LI	.bs	Sack	\$ 1.27	D \$	63.49	

					1	1 1		1	- 1			
MUN20-BRIES-1	Briess Malt	Aromatic Munich 20	US	US 2 Row Barley	20	1 Lbs	Poly Bag	\$	2.19	\$	2.19	European-style Munich Malt with clean, malty flavor. Very
MUN20-BRIES-5	Briess Malt	Aromatic Munich 20	US	US 2 Row Barley	20	5 Lbs	Poly Bag	\$	1.99	\$	9.95	smooth, clean, slightly sweet, rich intense maltiness.
ESB-GAM-13.75	Gambrinus	ESB Pale Malt	Canada	Canada 2 Row Barlev	2.5 - 3.5	13.75 Lbs	Poly Bag	s	1.79	s	24.61	ESB Pale Malt is ideal for authentic English-style bitters, pale ales, and
ESB-GAM-27.5	Gambrinus	ESB Pale Malt	Canada	Canada 2 Row Barley	2.5 - 3.5	27.5 Lbs	Sack	s	1.79	s		IPA's. With its robust overtones of bready cereal, Caramel, nutty grain, and honey, it also makes a great base malt for full-flavored styles like
ESB-GAM-55	Gambrinus	ESB Pale Malt	Canada	Canada 2 Row Barley		55 Lbs	Sack			s		Scottish ales, Imperial IPA's, American strong ales, old ales, or barley wines.
MUN30-GAM-1	Gambrinus	Munich 30	Canada	Canada 2 Row Barley		1.0 Lbs	Sack			s	2.29	
MUN30-GAM-5	Gambrinus	Munich 30	Canada	Canada 2 Row Barley		5 Lbs	Sack		1.99		9.95	
				Canada 2 Row Barley		13.75 Lbs	Poly Bag		1.99			Deeply kilned Munich malt with the color and flavor characteristi
MUN30-GAM-13.75	Gambrinus	Munich 30	Canada									5.99 of roasted malt and the malty mellowness of Munich malt.
MUN30-GAM-27.5	Gambrinus	Munich 30	Canada	Canada 2 Row Barley		27.5 Lbs	Sack		1.89		51.98	
MUN30-GAM-55	Gambrinus	Munich 30	Canada	Canada 2 Row Barley	30 - 35	55 Lbs	Sack	\$ 1	.318	\$	72.47	
BASE MALTS - Irish	<b>*</b>											
STOUT-MCI-13.75	Malting Co. of Ireland	Stout Malt	Ireland		1.5 - 2.0	13.75 Lbs	Poly Bag	\$	2.09	\$	28.74	Big, plump kernels with a rich flavor and low protein. High
STOUT-MCI-27.5	Malting Co. of Ireland	Stout Malt	Ireland		1.5 - 2.0	27.5 Lbs	Sack	\$	2.09	\$	57.48	extraction officiancy at 92.9/ Makas for a great base malt in all
STOUT-MCI-55	Malting Co. of Ireland	Stout Malt	Ireland		1.5 - 2.0	55 Lbs	Sack	\$ 1	.509	\$	82.99	
BASE MALTS - Britist	h <b>▼</b>	Т		П		1	-	T				
MOPA-TFS-5	Thomas Fawcett	Maris Otter Pale Ale- Floor Malted	UK-England	Maris Otter	2.3 - 3.0	5 Lbs	Poly Bag	\$	2.29	\$	11.45	
								1				Maris Otter has long been the favorite of English brewers for its

 
 Poly Bag
 \$
 2.19
 \$
 30.11

 Maris Otter has long been the favorite of English brewers for its brewhouse performance and rich, slightly nutty flavor. An excellent mait for any English beer style.
 MOPA-TFS-13.75 Thomas Fawcett Maris Otter Pale Ale- Floor Malted UK-England Maris Otter 2.3 - 3.0 13.75 Lbs MOPA-TFS-27.5 Maris Otter Pale Ale- Floor Malted UK-England Maris Otter 2.3 - 3.0 27.5 Lbs Thomas Fawcett MOPA-TFS-55 Thomas Fawcett Maris Otter Pale Ale- Floor Malted UK-England Maris Otter 2.3 - 3.0 55 Lbs \$ 1.609 \$ 88.51 Sack OPPA-TFS-5 Thomas Fawcett Spring Pale Ale Malt (Optic) UK-England Spring Pale Ale (Optic) 2.3 - 3.0 \$ 2.29 \$ 11.45 5 Lbs Poly Bag 2.19 \$ 30.11 Spring Pale Ale barley (Optic) is a barley variety widely grown in the United Kingdom. It produces a wort with highy UK-England Spring Pale Ale (Optic) 2.3 - 3.0 OPPA-TFS-13.75 Thomas Fawcett Spring Pale Ale Malt (Optic) 13.75 Lbs Poly Bag s 2.19 \$ 60.23 aromatic qualities. OPPA-TFS-27.5 UK-England Spring Pale Ale (Optic) 2.3 - 3.0 Thomas Fawcett Spring Pale Ale Malt (Optic) 27.5 Lbs

UK-England Spring Pale Ale (Optic) 2.3 - 3.0

Spring Pale Ale Malt (Optic)

BASE MALTS - UK ▼

Thomas Fawcett

OPPA-TFS-55

BASE MALTS - OK +											
GPPA-TFS-5	Thomas Fawcett	Golden Promise Pale Ale	UK-Scotland	Golden Promise	2.3 - 3.0	5	Lbs	Poly Bag	\$ 2.29	\$ 11.4	;
GPPA-TFS-13.75	Thomas Fawcett	Golden Promise Pale Ale	UK-Scotland	Golden Promise	2.3 - 3.0	13.75	Lbs	Poly Bag	\$ 2.19	\$ 30.1	Grown in Scotland this is the traditional base malt for Scottish and Scotch Ales. Produces a sweet, mellow wort
GPPA-TFS-27.5	Thomas Fawcett	Golden Promise Pale Ale	UK-Scotland	Golden Promise	2.3 - 3.0	27.5	Lbs	Sack	\$ 2.19		that is excellent for both brewing and distilling.

Sack

Sack

1.439 \$ 79.15

55.0 Lbs

GPPA-TFS-55	Thomas Fawcett	Golden Promise Pale Ale	UK-Scotland	Golden Promise	2.3 - 3.0	55	Lbs	Sack	\$ 1.60	9 \$	88.51	
BASE MALTS - Belgian	/ French ▼		1	1				1	1			1
BPILS-DGM-5	Dingemans	Belgian Pilsen	Belgium	Optic/ Prestige	1.4 1.8	5	Lbs	Poly Bag	\$ 2.1	9 \$	10.95	
BPILS-DGM-13.75	Dingemans	Belgian Pilsen	Belgium	Optic/ Prestige	1.4 1.8	13.75	Lbs	Poly Bag	\$ 2.0	9 \$	28.74	Dingemans Pilsen is produced from the finest European two- row barley. Well modified and can easily be mashed with a
BPILS-DGM-27.5	Dingemans	Belgian Pilsen	Belgium	Optic/ Prestige	1.4 1.8	27.5	Lbs	Sack	\$ 2.0	9 \$	57.48	single-temperature infusion.
BPILS-DGM-55	Dingemans	Belgian Pilsen	Belgium	Optic/ Prestige	1.4 1.8		Lbs	Sack	\$ 1.46		80.60	
BPA-DGM-5	Dingemans	Belgian Pale Ale	Belgium	Optic/ Prestige	2.7 - 3.8		Lbs	Poly Bag	\$ 2.19		10.95	
					2.7 - 3.8	13.75					28.74	Dingemans Pale Ale malt is fully modified and is easily
BPA-DGM-13.75	Dingemans	Belgian Pale Ale	Belgium	Optic/ Prestige				Poly Bag	·			converted by a single temperature mash. This is the preferred malt for ales of all types.
BPA-DGM-27.5	Dingemans	Belgian Pale Ale	Belgium	Optic/ Prestige	2.7 - 3.8	27.5		Sack	\$ 2.0		07.10	
BPA-DGM-55	Dingemans	Belgian Pale Ale	Belgium	Optic/ Prestige	2.7 - 3.8	55	Lbs	Sack	\$ 1.47	7\$	81.24	
SARO-MFB-5	Malt. Franco-Belges	Special Aromatic Malt	France	French 2 Row	3.5 - 5	5	Lbs	Poly Bag	\$ 2.1	9 \$	10.95	Specially designed for Belgian style beers. Selected French 2-row barley undergoes a particular malting process which favors the
SARO-MFB-13.75	Malt. Franco-Belges	Special Aromatic Malt	France	French 2 Row	3.5 - 5	13.75	Lbs	Poly Bag	\$ 2.0	9 \$	28.74	development of a very pronounced malt aroma. This malt will lend
SARO-MFB-27.5	Malt. Franco-Belges	Special Aromatic Malt	France	French 2 Row	3.5 - 5	27.5	Lbs	Sack	\$ 2.0	9\$	57.48	a pleasant aromatic malt taste, reinforced by a soft and mellow mouthfeel. Usage rate up to 100 % of grist.
SARO-MFB-55	Malt. Franco-Belges	Special Aromatic Malt	France	French 2 Row	3.5 - 5	55	Lbs	Sack	\$ 1.40	0 \$	76.99	
ABBE-WEY-1	Weyermann Malt	Abbey Malt <sup>®</sup>	Germany	2 Row Spring Barley	15.9 - 19.3	1	Lbs	Poly Bag	\$ 2.3	9 \$	2.39	Abbey Malt <sup>®</sup> is a highly friable base malt with pronounced malty aromas, and assertive flavors such as honey, nuts as well as hints
												of chocolate. Best for traditional Abbey ales, Trappist beers,
ABBE-WEY-5	Weyermann Malt	Abbey Malt <sup>®</sup>	Germany	2 Row Spring Barley	15.9 - 19.3		Lbs	Poly Bag	\$ 2.1		10.95	
MUN-DGM-5	Dingemans	Munich Malt	Belgium	Prestige	4 - 7	5	Lbs	Poly Bag	\$ 2.1			Dingemans kilned light Munich malt adds an amber color and additional body, grain sweetness, fullness, and malt aroma.
MUN-DGM-27.5	Dingemans	Munich Malt	Belgium	Prestige	4 - 7	27.5	Lbs	Sack	\$ 2.0	9\$	57.48	Lighter beers benefit from 3-5 percent Munich malt. For maltier beers, amber or dark beers use 20-100 percent.
MUN-DGM-55	Dingemans	Munich Malt	Belgium	Prestige	4 - 7	55	Lbs	Sack	\$ 1.46	8 \$	80.76	
PWHT-DGM-13.75	Dingemans	Pale Wheat Malt	Belgium	Tremie	1 - 2	13.75	Lbs	Poly Bag	\$ 1.9	9 \$	27.36	Dingemans Pale Wheat may be used in amounts ranging from 30
PWHT-DGM-27.5	Dingemans	Pale Wheat Malt	Belgium	Tremie	1 - 2	27.5	Lbs	Sack	\$ 1.9	9 \$	54.73	<ul> <li>70% of the total grist to create many styles of wheat beer and in smaller amounts to aid in head retention.</li> </ul>
PWHT-DGM-55	Dingemans	Pale Wheat Malt	Belgium	Tremie	1 - 2	55	Lbs	Sack	\$ 1.36	\$ \$	74.99	
BASE MALTS - Czech		Т			1	T	1	1	I.	T		
CPILS-PM-13.75	Prostějov Maltings	Czech Pilsen Malt	Czech Rep.	Hana Pilsen	2.0	13.75	Lbs	Poly Bag	\$ 1.9	9 \$	27.36	Locally grown Hana region barley and modern malting technology
CPILS-PM-27.5	Prostějov Maltings	Czech Pilsen Malt	Czech Rep.	Hana Pilsen	2.0	27.5	Lbs	Sack	\$ 1.9	9 \$	54.73	ensure high quality malt. Incredible aromatic malt character.
CPILS-PM-55	Prostějov Maltings	Czech Pilsen Malt	Czech Rep.	Hana Pilsen	2.0	55	Lbs	Sack	\$ 1.43	6 \$	78.99	Excellent in all types of lagers.
BASE MALT - German												
PILS-IREKS-13.75	IREKS	Pilsner Malt	Germany	2 Row Spring Barley	1.6 - 2.0	13.75	l be	Poly Bag	\$ 1.8	0 e	25.00	This light IREKS brewing malt is made from the best two-row spring
	IREKS											brewing barley. It is suitable for the production of light beers and, in addition, forms the basis for most types of beer. It is characterized
PILS-IREKS-27.5	IRENS	Pilsner Malt	Germany	2 Row Spring Barley	1.6 - 2.0	27.5	LDS	Sack	\$ 1.8	19 2	51.98	by a light color combined with a high enzymology and high extract
PILS-IREKS-55	IREKS	Pilsner Malt	Germany	2 Row Spring Barley	1.6 - 2.0	55	Lbs	Sack	\$ 1.23	86 \$	67.99	contents.
PILS-BEST-13.75	Best Malz	Pilsen Malt	Germany	2 Row Spring Barley	1.4 - 2.0	13.75	Lbs	Poly Bag	\$ 1.8	9 \$	25.99	Best premium Pilsen malt is produced fron the highest quality 2-
PILS-BEST-27.5	Best Malz	Pilsen Malt	Germany	2 Row Spring Barley	1.4 - 2.0	27.5	Lbs	Sack	\$ 1.8	9 \$	51.98	Row Spring barley which is selected for its low protein levels, high extract and low color.
PILS-BEST-55	Best Malz	Pilsen Malt	Germany	2 Row Spring Barley	1.4 - 2.0	55	Lbs	Sack	\$ 1.40	0 \$	76.99	
PILS-WEY-13.75	Weyermann Malt	Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	13.75	Lbs	Poly Bag	\$ 1.8	9 \$	25.99	Weyermann® Pilsner malt is a German, lager-style base malt
PILS-WEY-27.5	Weyermann Malt	Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	27.5		Sack	\$ 1.8			produced from high-quality, 2-row spring barley. It contributes a pale-straw color to wort and adds mild, malty-sweet flavor with
PILS-WEY-55	Weyermann Malt	Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1		Lbs	Sack	\$ 1.40		76.99	gentle notes of honey.
HPILS-BEST-13.75	Best Malz	Heidelberg Pilsen Malt	Germany	2 Row Spring Barley	1.2 - 1.6	13.75		Poly Bag	\$ 1.9			Heidelberg Pilsen malt is used as the lightest possible malt base
HPILS-BEST-27.5	Best Malz	Heidelberg Pilsen Malt	Germany	2 Row Spring Barley	1.2 - 1.6	27.5		Sack		9 \$		for all bottom- and top-fermented beers. It can be used to achieve very light colors and an extremely high degree of
												brightness. Great for a Kolsch or a Pilsner.
HPILS-BEST-55	Best Malz	Heidelberg Pilsen Malt	Germany	2 Row Spring Barley	1.2 - 1.6		Lbs	Sack			78.99	Wevermann® Brewing Malt (Type Cologne) is a kilned lager-style malt
KPILS-WEY-13.75	Weyermann Malt	Kolsch (Cologne) Pilsen Malt	Germany	2 Row Spring Barley	3.1 - 3.9	13.75		Poly Bag	\$ 1.9		27.36	made from quality, two-row, Bohemian spring barley. It creates medium-
KPILS-WEY-27.5	Weyermann Malt	Kolsch (Cologne) Pilsen Malt	Germany	2 Row Spring Barley	3.1 - 3.9	27.5	Lbs	Sack	\$ 1.9	9\$	54.73	full bodied, golden colored, smooth clean tasting beers. This malt shows excellent characteristics for ales, lagers, and German-style ales (#Celenth). It isoporte early average to be funded heard, Alex opening the second se
KPILS-WEY-55	Wevermann Malt	Kolsch (Cologne) Pilsen Malt	Germany	2 Row Spring Porton	3.1 - 3.9	FF	Lbs	Sack	\$ 1.43	2 A	excellent characteristics for ales, lagers, and German-style ales ("Kölsch"). It imparts malty-sweet notes to finished beer. Also gentle notes of honey come through when using this malt	
	Weyermann Malt			2 Row Spring Barley								
BPILS-WEY-13.75	Weyermann Malt	Barke <sup>®</sup> Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	13.75	Lbs	Poly Bag	\$ 1.9	9 \$	27.36	Weyermann® Barke® Pilsner malt is perfect for creating

[							1	-	1	1		authentic lager style beers. It enhances body and mouthfeel	
BPILS-WEY-27.5	Weyermann Malt	Barke <sup>®</sup> Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	27.5	Lbs	Sack	\$ 1.99	\$	54.73	substantially in the finished beer, while imparting intense malt	
BPILS-WEY-55	Weyermann Malt	Barke <sup>®</sup> Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	55	Lbs	Sack	\$ 1.436	\$	78.99	aromas.	
PALE-WEY-13.75	Weyermann Malt	Pale Ale Malt	Germany	2 Row Spring Barley	2.5 - 3.3	13.75		Poly Bag	\$ 1.89	\$	25.99		
PALE-WEY-27.5	Weyermann Malt	Pale Ale Malt	Germany	2 Row Spring Barley	2.5 - 3.3	27.5		Sack	\$ 1.89	\$	51.98	characteristics, this malt is highly modified for use with either single or multi-step infusions. And the low protein and glucan levels make for easy	
PALE-WEY-55	Weyermann Malt	Pale Ale Mait	Germany	2 Row Spring Barley	2.5 - 3.3	55		Sack	\$ 1.400	\$	76.99	lautering and high extract efficiency. It's the perfect foundational grist for any ale, but yields great results in lager-making, too.	
EPILS-WEY-13.75		Eraclea <sup>®</sup> Pilsner Malt			1.4 - 2.1	13.75		Poly Bag	\$ 1.99		27.36	This tensor welt is preduced from premium Freeles herein secur	
	Weyermann Malt		Germany	2 Row Spring Barley								near the Adriatic Sea northeast of Venice. It has a noticeable malty-sweet aroma with notes of honey. Eraclea Pilsner Malt	
EPILS-WEY-27.5	Weyermann Malt	Eraclea <sup>®</sup> Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	27.5	Lbs	Sack	\$ 1.99	\$	54.73	creates excellent medium-bodied Mediterranean-style pale lager and ales with perfect stable foam.	
EPILS-WEY-55	Weyermann Malt	Eraclea <sup>®</sup> Pilsner Malt	Germany	2 Row Spring Barley	1.4 - 2.1	55	Lbs	Sack	\$ 1.436	\$	78.99	Isaria is an heirloom German barley variety that was first approved for	
ISAR-WEY-13.75	Weyermann Malt	Isaria <sup>®</sup> 1924 Heirloom Malt	Germany	Isaria 2 Row Spring Barle	3.1 - 3.8	13.75	Lbs	Poly Bag	\$ 2.09	\$	28.74	commercial use in 1924, making it the oldest certified German brewing barley. Thanks to its malty-sweet flavor and soft biscuit-like aroma,	
ISAR-WEY-27.5	Weyermann Malt	Isaria <sup>®</sup> 1924 Heirloom Malt	Germany	Isaria 2 Row Spring Barle	3.1 - 3.8	27.5	Lbs	Sack	\$ 2.09	\$	57.48	brewers used Isaria as the base for flavorful traditional German Lagers,	
ISAR-WEY-55	Weyermann Malt	Isaria <sup>®</sup> 1924 Heirloom Malt	Germany	Isaria 2 Row Spring Barle	3.1 - 3.8	55	Lbs	Sack	\$ 1.582	\$	86.99	such as Keller, Märzen, and Zoigl beers. Isaria is also great for modern craft lagers and malt-forward ales.	
VIEN-BEST-13.75	Best Malz	Vienna Malt	Germany	2 Row Spring Barley	3.0 - 5.0	13.75	Lbs	Poly Bag	\$ 1.89	s	25.99	Produced from selected barley which is processes using a proprietary	
VIEN-BEST-27.5	Best Malz	Vienna Malt	Germany	2 Row Spring Barley	3.0 - 5.0	27.5		Sack	\$ 1.89		51.98	germination and specialized kilning process. The result is a malt that wi reinforce the light Golden color and bring our a pleasant malt taste with	
VIEN-BEST-55	Best Malz	Vienna Malt	Germany	2 Row Spring Barley	3.0 - 5.0		Lbs	Sack	\$ 1.400		76.99	extra mouthfeel.	
VIEN-IREKS-1	IREKS	Vienna Malt	Germany	Scarlett	3.5 - 4.2		Lbs	Poly Bag	\$ 2.19		2.19		
VIEN-IREKS-5	IREKS	Vienna Malt	Germany	Scarlett	3.5 - 4.2		Lbs	Poly Bag	\$ 1.99		9.95	-	
VIEN-IREKS-13.75	IREKS	Vienna Malt		Scarlett	3.5 - 4.2	13.75		Poly Bag	\$ 1.89		25.99	Traditional German malt. Use in amber beers and traditional Munich sty lagers. Great for bocks, Märzen/Oktoberfest lagers or porters. Adds th	
			Germany									characteristic malty flavors and aroma. Use up to 100% in grist.	
VIEN-IREKS-27.5	IREKS	Vienna Malt	Germany	Scarlett	3.5 - 4.2	27.5		Sack	\$ 1.89			1.98 6.90	
VIEN-IREKS-55	IREKS	Vienna Malt	Germany	Scarlett	3.5 - 4.2		Lbs	Sack	\$ 1.400		76.99		
MUN-BEST-13.75	Best Malz	Munich Malt	Germany	2 Row Spring Barley	4.6 - 8.0	13.75		Poly Bag	\$ 1.99			Best Munich malts are produced by a proprietary germination and by a special kilning process which enhances aroma and color of the finished	
MUN-BEST-27.5	Best Malz	Munich Malt	Germany	2 Row Spring Barley	4.6 - 8.0		Lbs	Sack	\$ 1.99			malt. Best Munich will reinforce color, mouthfeel and malt forwardness the finished beer.	
MUN-BEST-55	Best Malz	Munich Malt	Germany	2 Row Spring Barley	4.6 - 8.0		Lbs	Sack	\$ 1.436		78.99		
MUN-IREKS-1	IREKS	Munich Malt	Germany	Scarlett	7 - 9		Lbs	Poly Bag	\$ 2.29		2.29	-	
MUN-IREKS-5	IREKS	Munich Malt	Germany	Scarlett	7 - 9		Lbs	Poly Bag	\$ 2.09		10.45	Produced with graduated kiin temperatures resulting in higher color and	
MUN-IREKS-13.75	IREKS	Munich Malt	Germany	Scarlett	7 - 9	13.75	Lbs	Poly Bag	\$ 1.99	\$	27.36	aromatic notes. Munich may be used to enhance body and aroma of	
MUN-IREKS-27.5	IREKS	Munich Malt	Germany	Scarlett	7 - 9	27.5	Lbs	Sack	\$ 1.99	\$	54.73	-	
MUN-IREKS-55	IREKS	Munich Malt	Germany	Scarlett	7 - 9	55	Lbs	Sack	\$ 1.436	\$	78.99		
DMUN-BEST-13.75	Best Malz	Dark Munich Malt	Germany	2 Row Spring Barley	8 - 14	13.75	Lbs	Poly Bag	\$ 1.99	\$	27.36	Best Munich malts are produced by a proprietary germination and by a special kilning process which enhances aroma and color of the finished	
DMUN-BEST-27.5	Best Malz	Dark Munich Malt	Germany	2 Row Spring Barley	8 - 14	27.5	Lbs	Sack	\$ 1.99	\$	54.73		
DMUN-BEST-55	Best Malz	Dark Munich Malt	Germany	2 Row Spring Barley	8 - 14	55	Lbs	Sack	\$ 1.436	\$	78.99		
DMUN-WEY-13.75	Weyermann	Dark Munich Malt (Type II)	Germany	2 Row Spring Barley	8.0 - 9.9	13.75	Lbs	Poly Bag	\$ 1.99	\$	27.36		
DMUN-WEY-27.5	Weyermann	Dark Munich Malt (Type II)	Germany	2 Row Spring Barley	8.0 - 9.9	27.5	Lbs	Sack	\$ 1.99	\$	body and aroma. An excellent addition to amber lagers including 54.73 Vienna, Oktoberfest and Marzen beers. Also great in bocks,		
DMUN-WEY-55	Weyermann	Dark Munich Malt (Type II)	Germany	2 Row Spring Barley	8.0 - 9.9	55	Lbs	Sack	\$ 1.436	\$	78.99	doppelbocks, schwarzbiers, stouts, brown ales and dark ales.	
RDEX-BEST-13.75	Best Malz	Red X Malt	Germany	2 Row Spring Barley	11.0 - 13.0	13.75	Lbs	Poly Bag	\$ 1.99	\$	27.36	BEST Red-X malt is malted for brewing red-tinted beers. Use BEST Red-X fi	
RDEX-BEST-27.5	Best Malz	Red X Malt	Germany	2 Row Spring Barley	11.0 - 13.0	27.5	Lbs	Poly Bag	\$ 1.99	\$	54.73	up to 100% of your grain billno other malt is required. With its full-bodied flavor and attractive red color, Red-X is a great choice to experiment with ne	
RDEX-BEST-55	Best Malz	Red X Malt	Germany	2 Row Spring Barley	11.0 - 13.0	55	Lbs	Poly Bag	\$ 1.436	\$	78.99	Tavor and attractive red color, Red-X is a great choice to experiment with he styles like red-tinted wheat beer, or red IPA. Also works well in traditional styles like Altibier, Amber, and many dark beers.	
	Vienna and Munich malts ofter												
PWHT-BEST-13.75	Best Malz	Pale Wheat Malt	Germany	Spr. German Wheat	1.6 - 2.3	13.75	Lbs	Poly Bag	\$ 1.89	s	25.99		
PWHT-BEST-27.5	Best Malz	Pale Wheat Malt	Germany	Spr. German Wheat	1.6 - 2.3	27.5		Sack	\$ 1.89		51.98	Best Malz Wheat malts are produced from plump, Spring German whea Best Wheat malts are excellent for all types of whear beer including	
	Soot mail	, als trifeat man	Connarry	op. Jonnan whoat	1.5 - 2.5	21.5	200	Odok	÷ 1.05	Ŷ	01.00	traditional Weiss beer and American wheat beer.	

PWHT-BEST-13.75	Best Malz	Pale Wheat Malt	Germany	Spr. German Wheat	1.6 - 2.3	13.75 Lbs	Poly Bag	\$ 1.89	\$ 25.99	Best Malz Wheat malts are produced from plump, Spring German wheat.
PWHT-BEST-27.5	Best Malz	Pale Wheat Malt	Germany	Spr. German Wheat	1.6 - 2.3	27.5 Lbs	Sack	\$ 1.89	\$ 51.98	Best Wheat mails are excellent for all types of whear beer including traditional Weiss beer and American wheat beer.
PWHT-BEST-55	Best Malz	Pale Wheat Malt	Germany	Spr. German Wheat	1.6 - 2.3	55 Lbs	Sack	\$ 1.400	76.99	
DWHT-BEST-13.75	Best Malz	Dark Wheat Malt	Germany	Spr. German Wheat	5.0 - 8.0	13.75 Lbs	Poly Bag	\$ 1.99	\$ 27.36	Best Malz Wheat malts are produced from plump, Spring German wheat.
DWHT-BEST-27.5	Best Malz	Dark Wheat Malt	Germany	Spr. German Wheat	5.0 - 8.0	27.5 Lbs	Sack	\$ 1.99	\$ E4 72	Best Wheat mails are produced from plump, spring German wheat. Best Wheat malts are excellent for all types of whear beer including traditional Weiss beer and American wheat beer.
DWHT-BEST-55	Best Malz	Dark Wheat Malt	Germany	Spr. German Wheat	5.0 - 8.0	55 Lbs	Sack	\$ 1.436	\$ 78.99	adduonar webs beer and American Wildat beer.

SPECIALTY MALTS - US	S/ Canadian ▼									
CPILS-BRIES-1	Briess Malt	Carapils® (2 Row) - Dextrine Malt	US	US 2 Row Barley	1.5	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
CPILS-BRIES-5	Briess Malt	Carapils® (2 Row) - Dextrine Malt	US	US 2 Row Barley	1.5	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	adds body, foam retention and stability w/o flavor or color.
CCPILS-BRIES-1	Briess Malt	Copper Carapils® - Dextrine Malt	US	US 2 Row Barley	30	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Adds malts, toasty and graham cracker flavors. Unique dextrine-style malt that not only adds body, foam retention, and beer stability but also
CCPILS-BRIES-5	Briess Malt	Copper Carapils® - Dextrine Malt	US	US 2 Row Barley	30	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	color and flavor
BROAT-BRIES-1	Briess Malt	Blonde RoastOat <sup>™</sup> Malt	US	Wisconsin Oats	4	1 Lbs	Poly Bag	\$ 2.89	\$ 2.89	Adds a slight roasted and mild sweet flavor. Highly unique specialty malted and roasted oat with subtle flavors and mouthfeel. Mill before use
BROAT-BRIES-5	Briess Malt	Blonde RoastOat <sup>™</sup> Malt	us	Wisconsin Oats	4	5 Lbs	Poly Bag	\$ 2.69	\$ 13.45	with a narrow gap setting
VIC-BRIES-1	Briess Malt	Victory® Malt	US	US 2 Row Barley	28	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Toasty, biscuity, baking bread, nutty, clean. Biscuit-style malt, use in
VIC-BRIES-5	Briess Malt	Victory® Malt	US	US 2 Row Barley	28	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	ales and lagers alike; deep golden with orange hues.
SROAS-BRIES-1	Briess Malt	Special Roast Malt	US	US 2 Row Barley	40	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
SROAS-BRIES-5	Briess Malt	Special Roast Malt	us	US 2 Row Barley	40	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	dark beer styles; deep golden to brown.
XSPEC-BRIES-1	Briess Malt	Extra Special Malt	US	US 2 Row Barley	130	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Toasted marshmallow, toast, mild coffee, prunes, dry, woody. Adds
XSPEC-BRIES-5	Briess Malt	Extra Special Malt	US	US 2 Row Barley	130	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	complexity to Abbey styles and darker beer styles.
CBRN-BRIES-1	Briess Malt	Carabrown® Malt	US	US 2 Row Barley	55	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
CBRN-BRIES-5	Briess Malt	Carabrown® Malt	US	US 2 Row Barley	55	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	cracker. Light brown to orange hues; clean, dry finish.
CHOC-BRIES-1	Briess Malt	Chocolate Malt	US	US 2 Row Barley	350	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
CHOC-BRIES-5	Briess Malt	Chocolate Malt	US	US 2 Row Barley	350	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	other dark ales. Adds dark brown hues.
DCHOC-BRIES-1	Briess Malt	Dark Chocolate Mait	US	US 2 Row Barley	420	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Rich, roasted coffee, cocoa. Use in Porters, Stouts , Brown Ales and
DCHOC-BRIES-5	Briess Malt	Dark Chocolate Malt	US	US 2 Row Barley	420	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	other dark ales. Adds dark brown hues.
RB-BRIES-1	Briess Malt	Roasted Barley	US	US 2 Row Barley	300	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
RB-BRIES-5	Briess Malt	Roasted Barley	US	US 2 Row Barley	300	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	characteristic of Stouts and some Porters. Impacts foam color.
MWHT-BRIES-1	Briess Malt	Midnight Wheat Malt	US	Wisconsin Wheat	550	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
MWHT-BRIES-5	Briess Malt	Midnight Wheat Malt	US	Wisconsin Wheat	550	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	chocolate/coffee. Color with smooth flavor; Black IPA's, etc.
BPRNZ-BRIES-1	Briess Malt	Blackprinz <sup>®</sup> Malt (debittered)	US	US 2 Row Barley	500	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
BPRNZ-BRIES-5	Briess Malt	Blackprinz <sup>®</sup> Malt (debittered)	US	US 2 Row Barley	500	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	chocolate/coffee. Color with smooth flavor; Black IPA's, etc.
ASMOK-BRIES-1	Briess Malt	Applewood Smoked Malt	US	US 2 Row Barley	6	1 Lbs	Poly Bag	\$ 2.89	\$ 2.89	
ASMOK-BRIES-5	Briess Malt	Applewood Smoked Malt	US	US 2 Row Barley	6	5 Lbs	Poly Bag	\$ 2.69	\$ 13.45	smoked beers or to develop complexity in other ales / lagers.
CSMOK-BRIES-1	Briess Malt	Cherrywood Smoked Malt	US	US 2 Row Barley	5	1 Lbs	Poly Bag	\$ 2.89	\$ 2.89	
CSMOK-BRIES-5	Briess Malt	Cherrywood Smoked Malt	US	US 2 Row Barley	5	5 Lbs	Poly Bag	\$ 2.69	\$ 13.45	smoked beers or to develop complexity in other ales / lagers.
MSMOK-BRIES-5	Briess Malt	Mesquite Smoked Malt	US	US 2 Row Barley	5	5 Lbs	Poly Bag	\$ 2.89	\$ 14.45	Mesquite Smoked Malt delivers a mellow mesquite smoke flavor without the harshness that mesquite can deliver. Smooth and slightly sweet (less
MSMOK-BRIES-5	Briess Malt	Mesquite Smoked Malt	US	US 2 Row Barley	5	5 Lbs	Poly Bag	\$ 2.69	\$ 13.45	sweet than Briess Cherrywood Smoked malt).
	Briess Malt	Caramel 10 L Malt	US	US Barley	10	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
	Briess Malt	Caramel 10 L Malt	US	US Barley	10	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	roasted; improves foam, enhances viscosity.
C20-BRIES-1	Briess Malt	Caramel 20 L Malt	US	US 2 Row Barley	20	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Candy-like sweetness and mild Caramel flavors. Golden hues, drum
	Briess Malt	Caramel 20 L Malt	US	US 2 Row Barley	20	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	roasted; improves foam, enhances viscosity.
	Briess Malt	Caramel 40 L Malt	US	US 2 Row Barley	40	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	
	Briess Malt	Caramel 40 L Malt	US	US 2 Row Barley	40	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	enhances viscosity.
	Great Western Malting	Caramel Steam Malt - 40 L	US	US 2 Row Barley	40	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Flavor profile includes: nutty, graham cracker, Caramel and plum. Great
	Great Western Malting	Caramel Steam Malt - 40 L	US	US 2 Row Barley	40	5 Lbs	Poly Bag		\$ 10.95	rate to 20 %
	Briess Malt	Caramel 60 L	US	US 2 Row Barley	55 - 65	1 Lbs	Poly Bag	\$ 2.39	\$ 2.39	Sweet, pronounced Caramel. Deep golden to red hues, drum roasted;
C60-BRIES-1									-	improves foam, enhances viscosity.
	Briess Malt	Caramel 60 L	US	US 2 Row Barley	55 - 65	5 Lbs	Poly Bag	\$ 2.19	\$ 10.95	5
C60-BRIES-5		Caramel 60 L Caramel 80 L	US US	US 2 Row Barley US 2 Row Barley	55 - 65 80	5 Lbs 1 Lbs	Poly Bag Poly Bag		\$ 10.95 \$ 2.39	Pronounced Caramel, slight burnt sugar, raisiny. Contributes red to deep
C60-BRIES-5 C80-BRIES-1	Briess Malt			US 2 Row Barley US 2 Row Barley US 2 Row Barley			Poly Bag Poly Bag Poly Bag	\$ 2.19 \$ 2.39 \$ 2.19		Pronounced Caramel, slight burnt sugar, raisiny. Contributes red to deep red hues, drum roasted; improves foam, enhances viscosity. Usage rate

	Dalaan Malf	0		100 0 D	400	-		D-1-2		0.40	¢	40.05	ueep reu nues, urum roasieu, improves roam, ennances viscosity. Usage rate 1 - 15 %.
C120-BRIES-5	Briess Malt	Caramel 120 L	US	US 2 Row Barley	120	5	Lbs	Poly Bag	\$	2.19	\$	10.95	Brumalt. A series of proprietary processes are used to finish the malt
AHON-BRIES-1	Briess Malt	American Honey Malt	us	US 2 Row Barley	25	1	Lbs	Poly Bag	\$	2.49	\$	2.49	and an etc. a product data with strends are and big there are attend
AHON-BRIES-5	Briess Malt	American Honey Malt	US	US 2 Row Barley	25	5	Lbs	Poly Bag	\$	2.29	\$	11.45	flavors of biscuit, toffee and brown sugar.
HON-GAM-1	Gambrinus Malt	Honey Malt	Canada	Harrington	20 - 25	1	Lbs	Poly Bag	\$	2.49	\$	2.49	
HON-GAM-5	Gambrinus Malt	Honey Malt	Canada	Harrington	20 - 25	5	Lbs	Poly Bag	\$	2.29	\$	11.45	astringent roast flavors.
BRU-GW-1	Great Western Malting	Brumalt	US	US 2 Row Barley	20	1	Lbs	Poly Bag	\$	2.49	\$	2.49	Tart, with a slight honey, stone fruit sweetness. Perfect for an IPA, Saison, Pale ale, Cream ale, Belgian ale, and Lager. Use up to 15 % of
BRU-GW-5	Great Western Malting	Brumalt	US	US 2 Row Barley	20	5	Lbs	Poly Bag	\$	2.29	\$	11.45	grain bill.
RYE-CM-1	Canada Malting	Rye Malt	Canada	Canada Rye	1.8 - 3.2	1	Lbs	Poly Bag	\$	2.39	\$	2.39	Canada Malting Rye will lend a grainy, slighly spicy flavor to ales.
RYE-CM-5	Canada Malting	Rye Malt	Canada	Canada Rye	1.8 - 3.2	5	Lbs	Poly Bag	\$	2.19	\$	10.95	oundou maning ryc win iond a grainy, signiy spicy navor to ales.
BRYE-GW-1	Great Western Malting	Biscuit Rye Malt	US	US Rye	17	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Made with 100% malted rye, Biscuit Rye is roasted inside custom designed drums in Vancouver, Washington. Biscuit Rye strikes a pleasant balance between toasted, biscuit forward flavors and classic rye
BRYE-GW-1	Great Western Malting	Biscuit Rye Malt	US	US Rye	17	5	Lbs	Poly Bag	e	2.39	e	11.95	spice. Try in Hazies, Pale Ale, IPA, Amber, Porter, Stout, or Distilled
		Discuit Rye Mait	03	US Nye	117	J	LUS	F Oly Dag	Ŷ	2.00	ę	11.55	
SPECIALTY MALTS -								L					
C15-BAIRD-1	Bairds Malt	Light Carastan / Crystal Malt (15 L)	UK	UK 2 Row Barley	13 - 17		Lbs	Poly Bag		2.59	\$		A light crystal malt. Provides sweet toffee like flavors. Aids on foam stability and enhances viscosity.
C15-BAIRD-5	Bairds Malt	Light Carastan / Crystal Malt (15 L)	UK	UK 2 Row Barley	13 - 17		Lbs	Poly Bag			\$	11.95	
C25-TFS-1	Thomas Fawcett	Pale Crystal Malt (25 L)	UK	UK 2 Row Barley	20 - 27	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Imparts a light Caramel flavor and a slight red hue to beers.
C25-TFS-5	Thomas Fawcett	Pale Crystal Malt (25 L)	UK	UK 2 Row Barley	20 - 27	5	Lbs	Poly Bag		2.39	\$	11.95	
C35-BAIRD-1	Bairds Malt	Carastan Malt (35 L)	UK	UK 2 Row Barley	30 - 40	1	Lbs	Poly Bag		2.59	\$		A medium crystal malt. Adds golden hues and Caramel and toffee-like flavor.
C35-BAIRD-5	Bairds Malt	Carastan Malt (35 L)	UK	UK 2 Row Barley	30 - 40	5	Lbs	Poly Bag			\$	11.95	
C45-TFS-1	Thomas Fawcett	Crystal Malt I (45 L)	UK	UK 2 Row Barley	42 - 48	1	Lbs	Poly Bag	\$	2.59	\$	2.59	An excellent all-purpose crystal malt. Adds a moderate amber color and Caramel flavor to your beer.
C45-TFS-5	Thomas Fawcett	Crystal Malt I (45 L)	UK	UK 2 Row Barley	42 - 48	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
C65-TFS-1	Thomas Fawcett	Crystal Malt II (65 L)	UK	UK 2 Row Barley	62 - 68	1	Lbs	Poly Bag	\$	2.59	\$	2.59	An excellent all-purpose crystal malt. Adds sweet Caramel and toffee flavor notes to your beer.
C65-TFS-5	Thomas Fawcett	Crystal Malt II (65 L)	UK	UK 2 Row Barley	62 - 68	5	Lbs	Poly Bag	\$	2.39	\$	11.95	·
C85-TFS-1	Thomas Fawcett	Dark Crystal Malt I (85 L)	UK	UK 2 Row Barley	83 - 90	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Contributes a strong reddish hue to dark beers. This malt adds a roasty edge on top of a malty sweetness.
C85-TFS-5	Thomas Fawcett	Dark Crystal Malt I (85 L)	UK	UK 2 Row Barley	83 - 90	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
DRC-SIMP-1	Simpsons Malt	Double Roasted Crystal Malt (110 L)	UK	UK 2 Row Barley	105 - 120	1	Lbs	Poly Bag	\$	\$2.59	\$	2.59	imparts neavy Caramel havor, with subtle tastes of raisins, plums, burnt
DRC-SIMP-5	Simpsons Malt	Double Roasted Crystal Malt (110 L)	UK	UK 2 Row Barley	105 - 120	5	Lbs	Poly Bag	\$	52.39	\$	11.95	sugar, dried fruit. The aroma is intense, sweet and malty.
C120-TFS-1	Thomas Fawcett	Dark Crystal Malt II (120 L)	UK	UK 2 Row Barley	110 - 130	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Contributes dark color, unique flavor and body. Aids in head retention. Adds a sharp Caramel flavor / deep red color.
C120-TFS-5	Thomas Fawcett	Dark Crystal Malt II (120 L)	UK	UK 2 Row Barley	110 - 130	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
C135-BAIRD-1	Bairds Malt	Extra Dark Crystal Malt (135 L)	UK	UK 2 Row Barley	115 - 155	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Crystal malt with intense degrees of Caramel and toffee-like flavors.
C135-BAIRD-5	Bairds Malt	Extra Dark Crystal Malt (135 L)	ик	UK 2 Row Barley	115 - 155	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
AMBR-TFS-1	Thomas Fawcett	Amber Malt (35 L)	ик	UK 2 Row Barley	30 - 42	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Amber malt is a more roasted form of pale ale malt and is typically used in Brown Porter recipes.
AMBR-TFS-5	Thomas Fawcett	Amber Malt (35 L)	UK	UK 2 Row Barley	30 - 42	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
BRN-TFS-1	Thomas Fawcett	Brown Malt (60 L)	ик	UK 2 Row Barley	52 - 65	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Brown malt is a darker form of pale malt and is typically used in brown ales as well as in porters and stouts.
BRN-TFS-5	Thomas Fawcett	Brown Malt (60 L)	ик	UK 2 Row Barley	52 - 65	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
PCHOC-TFS-1	Thomas Fawcett	Pale Chocolate Malt	ик	UK 2 Row Barley	185 - 250	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Less highly roasted than regular chocolate malt. Will add dark brown color and a mild chocolate / coffee flavor.
PCHOC-TFS-5	Thomas Fawcett	Pale Chocolate Malt	ик	UK 2 Row Barley	185 - 250	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
CHOC-TFS-1	Thomas Fawcett	Chocolate Malt	UK	UK 2 Row Barley	325 - 400	1	Lbs	Poly Bag	\$	2.59	\$	2.59	A classic malt for a stout, porter and brown ales. Provides color for a wide variety of darker beer styles
CHOC-TFS-5	Thomas Fawcett	Chocolate Malt	ик	UK 2 Row Barley	325 - 400	5	Lbs	Poly Bag	\$	2.39	\$	11.95	
BLK-PAULS-1	Pauls Malt	Black Malt	ик	UK 2 Row Barley	500 - 600	1	Lbs	Poly Bag	\$	2.59	\$	2.59	difference between Black and Chocolate Mait is in roasting time and temperature.
BLK-PAULS-5	Pauls Malt	Black Malt	UK	UK 2 Row Barley	500 - 600	5	Lbs	Poly Bag	\$	2.39	\$	11.95	Black Malt is used in stouts to improve flavor and color.
RB-PAULS-1	Pauls Malt	Roasted Barley	UK	UK 2 Row Barley	500 - 700	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Pauls Roasted Barley starts with highest quality malting barley of even size. The roasting process is similar to that of Black Malt, with extra Care taken to not char
RB-PAULS-5	Pauls Malt	Roasted Barley	UK	UK 2 Row Barley	500 - 700	5	Lbs	Poly Bag	\$	2.39	\$	11.95	the grain. Imparts a dry flavor and substantial color.
OAT-TFS-1	Thomas Fawcett	Oat Malt	UK	UK Oats	1.9 - 2.3	1	Lbs	Poly Bag	\$	2.59	\$	2.59	Great for enhancing body and flavor of dark beers. Can also be used as a base

										malt for gluten-free beers.
OAT-TFS-5	Thomas Fawcett	Oat Malt	ик	UK Oats	1.9 - 2.3 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	
GNO-SIMP-1	Simpsons	Golden Naked Oats	ик	UK Oats	6.0 - 14.0 1	Lbs	Poly Bag	\$ 2.89	\$ 2.89	This specialty grain lends a sweet berry-nut flavor. Delivers a deep golden hue; creamy, satin finish and shaving cream foam. GF
GNO-SIMP-5	Simpsons	Golden Naked Oats	ик	UK Oats	6.0 - 14.0 5	Lbs	Poly Bag	\$ 2.69	\$ 13.45	Geany, saur initish and shaving Gean roan. Gr
RRYE-SIMP-1	Simpsons	Red Rye Malt (90 L)	ик	UK Rye	90 - 115 1	Lbs	Poly Bag	\$ 2.69	\$ 2.69	Contributes a strong reddish hue to dark beers. Simpsons Red Rye Crystal Malt is perfect for imparting flavors that evoke a sense of autumn; sweet maltiness with
RRYE-SIMP-5	Simpsons	Red Rye Malt (90 L)	ик	UK Rye	90 - 115 5	Lbs	Poly Bag	\$ 2.49	\$ 12.45	warm bread-crust undertones.
										Medium Peated Malt at 20–35 ppm phenol. Gently peated in the kiln. Peat malt is used in the distilling of Scotland finest whiskies, but also used in smoked beers.
PEAT-SIMP-1	Simpsons	Peated Malt	ик	UK 2 Row Barley	1.3 - 1.7 1	Lbs	Poly Bag	\$ 2.89	\$ 2.89	Adds an distinc intense iodine and seaweed smoke phenol character.
SPECIALTY MALTS - Be	elgian ▼			1	1	1	1			1
ARO-DGM-1	Dingemans	Aromatic	Belgium	Optic / Prestige	17 - 21 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Dingemans Aromatic is a mildly kilned malt that will add a strong malt
ARO-DGM-5	Dingemans	Aromatic	Belgium	Optic / Prestige	17 - 21 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	aroma and deep color when used as a specialty malt.
BISC-DGM-1	Dingemans	Biscuit	Belgium	Optic / Prestige	18 - 27 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	This toasted malt will provide a warm bread or biscuit flavor and aroma
BISC-DGM-5	Dingemans	Biscuit	Belgium	Optic / Prestige	18 - 27 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	and will lend a garnet-brown color.
C8-DGM-1	Dingemans	Cara 8	Belgium	Optic / Prestige	6 - 9 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	A very light crystal malt made by drying barley malt at low temperatures.
C8-DGM-5	Dingemans	Cara 8	Belgium	Optic / Prestige	6 - 9 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	Adds body, smoother mouthfeel, and foam stability.
CVIEN-DGM-1	Dingemans	Caramel Vienna (Cara 20)	Belgium	Optic / Prestige	19 - 23 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	A light crystal malt used by Belgian breweries in producing Abbey or
CVIEN-DGM-5	Dingemans	Caramel Vienna (Cara 20)	Belgium	Optic / Prestige	19 - 23 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	Trappist ales. Appropriate for any recipe calling for crystal malt.
CA30-MFB-1	Malt. Franco-Belges	Caramel Amber 30	France	French 2 Row	30 - 38 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	This malt strengthens the color and increases the mellowness of all beer
CA30-MFB-5	Malt. Franco-Belges	Caramel Amber 30	France	French 2 Row	30 - 38 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	styles while also providing a fine aroma and taste.
CM40-MFB-1	Malt. Franco-Belges	Caramel Munich 40	France	French 2 Row	38 - 42 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Highly modified, Caramelized and slightly roasted. Especially well suited
CM40-MFB-5	Malt. Franco-Belges	Caramel Munich 40	France	French 2 Row	38 - 42 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	to beers requiring additional Caramel malt flavor and color.
CM60-MFB-1	Malt. Franco-Belges	Caramel Munich 60	France	French 2 Row	55 - 65 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Highly modified, Caramelized and slightly roasted. Especially well suited
CM60-MFB-5	Malt. Franco-Belges	Caramel Munich 60	France	French 2 Row	55 - 65 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	to beers requiring additional Caramel malt flavor and color.
CM80-MFB-1	Malt. Franco-Belges	Caramel Munich 80	France	French 2 Row	75 - 85 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Highly modified, Caramelized and slightly roasted. Especially well suited
CM80-MFB-5	Malt. Franco-Belges	Caramel Munich 80	France	French 2 Row	75 - 85 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	to beers requiring additional Caramel malt flavor and color.
CM120-MFB-1	Malt. Franco-Belges	Caramel Munich 120	France	French 2 Row	118 - 125 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Highly modified, Caramelized and slightly roasted. Especially well suited
CM120-MFB-5	Malt. Franco-Belges	Caramel Munich 120	France	French 2 Row	118 - 125 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	to beers requiring additional Caramel malt flavor and color.
SPB-DGM-1	Dingemans	Special B	Belgium	Optic / Prestige	140 - 155 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Dingemans Special B will impart a heavy Caramel taste and is often
SPB-DGM-5	Dingemans	Special B	Belgium	Optic / Prestige	140 - 155 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	credited with the raisin-like flavors of some Belgian Abbey ales.
KCOF-MFB-1	Malt. Franco-Belges	Kiln Coffee (Pale Chocolate)	France	French 2 Row	165 - 180 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	This roasted malt delivers subtle chocolate and coffee flavors and aroma
KCOF-MFB-5	Malt. Franco-Belges	Kiln Coffee (Pale Chocolate)	France	French 2 Row	165 - 180 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	to all dark beer styles. Use at a rate of 1 - 10 %.
SPECIALTY MALTS - G	erman / Czech ▼									
MELA-WEY-1	Weyermann	Melanoidin Malt	Germany	2 Row Spring Barley	23 - 30 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Like Belgian Aromatic malt, Weyermann Melanoidin malt will add an
MELA-WEY-5	Weyermann	Melanoidin Malt	Germany	2 Row Spring Barley	23 - 30 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	accentuated malt presence and a red color to beers.
ACID-WEY-1	Weyermann	Acidulated (Sauer) Malt	Germany	2 Row Spring Barley	1.7 - 3.2 1	Lbs	Poly Bag	\$ 2.89	\$ 2.89	This malt is acidulated with lactic acid and can be used to lower mash pH. Provides a rounder, fuller character to beer, enhancing the flavor of
ACID-WEY-5	Weyermann	Acidulated (Sauer) Malt	Germany	2 Row Spring Barley	1.7 - 3.2 5	Lbs	Poly Bag	\$ 2.69	\$ 13.45	Pilsners and other light lagers. Use up to 3% in dry stouts to add a tang to the finish.
SPITZ-MEUS-1	Meussdoerffer	Spitz Malt	Germany	2 Row SCarlett Barley	1.0 - 2.0 L 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Meussdoerffer Spitz is an under modified malt that when used in conjunction with a Pilsner or any other highly modified malt at a rate of 5 -
SPITZ-MEUS-5	Meussdoerffer	Spitz Malt	Germany	3 Row SCarlett Barley	1.0 - 2.0 L 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	10%, it will enhance the beer's color and improve head retention. Ideal for Pilsners and light lagers.
CPILS-BEST-1	Best Malz	Caramel Pils (Dextrine Malt)	Germany	2 Row Spring Barley	2-3 5	Lbs	Poly Bag	\$ 2.59	\$ 12.95	Aids in foam development and head retention as well as extra body to your beer. Use in lager beers of all types. Similar to Weyermann
CPILS-BEST-5	Best Malz	Caramel Pils (Dextrine Malt)	Germany	2 Row Spring Barley		Lbs	Poly Bag	\$ 2.39	\$ 11.95	Your beer. Use in lager beers of all types. Similar to weyermann CaraFoam®.
CHELL-WEY-1	Weyermann	CaraHell® (10 L)	Germany	2 Row Spring Barley	8.1 - 11.8 1	Lbs	Poly Bag	\$ 2.59	\$ 2.59	Increases the richness and intensifies the malt aromas in German style
CHELL-WEY-5	Weyermann	CaraHell® (10 L)	Germany	2 Row Spring Barley	8.1 - 11.8 5	Lbs	Poly Bag	\$ 2.39	\$ 11.95	beers. Perfect to use in Pilsners, Wheats, and lighter beers.
CRED-WEY-1	Weyermann	CaraRed® Malt	Germany	2 Row Spring Barley		Lbs	Poly Bag	\$ 2.59	\$ 2.59	Weyermann® CarARED® is a drum-roasted Caramel malt made from two-row, German barley that can be used to give a fuller body, along with
	Weyermann	CaraRed® Malt	Germany			Lbs	Poly Bag	\$ 2.39		a deep saturated red color. Notes of Caramel, honey and biscuit also come through.
CRED-WEY-5	Weyermann	CaraRed® Malt	Germany	2 Row Spring Barley	16 - 23 5	LDS	Poly Bag	\$ 2.39	\$ 11.95	come through.

					1			1			
											Weyermann® CARAAMBER® is used to improve flavor stability, fullness
CAMB-WEY-1	Weyermann	CaraAmber® Malt	Germany	2 Row Spring Barley	23 - 30	1 Lbs	Poly Bag	\$ 2.59	\$	2.59	and enhance color. Full red color is achieved as well as better mash efficiency when using CARAAMBER®, while flavors of toffee, caramel
CAMB-WEY-5	Weyermann	CaraAmber® Malt	Germany	2 Row Spring Barley	23 - 30	5 Lbs	Poly Bag	\$ 2.39	\$	11.95	and bread are imparted. Suitable for Bocks, Dunkels, Brown Ales, Red Lagers, and Amber style beers.
CMUN1-WEY-1	Weyermann	CaraMunich I® Malt	Germany	2 Row Spring Barley	31 - 38	1 Lbs	Poly Bag	\$ 2.59	s	2.59	A drum-roasted Caramel malt made from two-row, German barley. Contributes dark amber to copper hues, and adds a rich malt accent with
CMUN1-WEY-5	Weyermann	CaraMunich I® Malt	Germany	2 Row Spring Barley	31 - 38	5 Lbs	Polv Bag	\$ 2.39	s	11.95	notes of biscuit and an intense Caramel aroma. Also adds body and improves head retention.
CMUN2-WEY-1	Weyermann	CaraMunich II® Malt	Germany	2 Row Spring Barley	42 - 49	1 Lbs	Poly Bag	\$ 2.59	s	2.59	A drum-roasted Caramel malt made from two-row, German barley. Contributes amber to copper hues, and adds a rich malt accent with
CMUN2-WEY-5	Wevermann	CaraMunich II® Malt	Germany	2 Row Spring Barley	42 - 49		Poly Bag	\$ 2.39		11.95	notes of biscuit and an intense Caramel aroma. Also adds body and
											A drum-roasted Caramel malt made from two-row, German barley.
CMUN3-WEY-1	Weyermann	CaraMunich III® Malt	Germany	2 Row Spring Barley	53 - 61		Poly Bag	\$ 2.59		2.59	Contributes dark amber to copper hues, and adds a rich malt accent with notes of biscuit and an intense Caramel aroma. Also adds body and
CMUN3-WEY-5	Weyermann	CaraMunich III® Malt	Germany	2 Row Spring Barley	53 - 61	5 Lbs	Poly Bag	\$ 2.39	\$	11.95	improves head retention.
CBOH-WEY-1	Weyermann	CaraBohemian Malt	Germany	2 Row Spring Barley	65 - 83	1 Lbs	Poly Bag	\$ 2.59	\$	2.59	bread, caramel and toffee flavors. Perfect for all Bohemian style lagers and specialty beers, as well as for styles such as Porters, Stouts and other large styles
CBOH-WEY-5	Weyermann	CaraBohemian Malt	Germany	2 Row Spring Barley	65 - 83	5 Lbs	Poly Bag	\$ 2.39	\$	11.95	such as Festbier, Märzen, and Bock beers where a fuller body and mouthfeel is desired.
CWHT-WEY-1	Weyermann	CaraWheat®	Germany	2 Row Spring Barley	38 - 49.3	1 Lbs	Poly Bag	\$ 2.59	\$	2.59	
CWHT-WEY-5	Weyermann	CaraWheat®	Germany	2 Row Spring Barley	38 - 49.3	5 Lbs	Poly Bag	\$ 2.39	\$	11.95	any Weisse-style beer, or sub for your favorite crystal malt.
CFID-WEY-1	Weyermann	Carafa® Special I Chocolate - debittered	Germany	2 Row Spring Barley	302 - 378	1 Lbs	Poly Bag	\$ 2.69	\$	2.69	De-Husked / debittered Carafa I: Contributes rich color, body, flavor and aroma without the harsh flavors and astringency typical of dark-colored
CFID-WEY-5	Weyermann	Carafa® Special I Chocolate - debittered	Germany	2 Row Spring Barley	302 - 378		Poly Bag	\$ 2.49		12.45	grains. Use up to 5 %.
CFIID-WEY-1	Weyermann	Carafa® Special II Chocolate - debittered	Germany	2 Row Spring Barley	413 - 450	1 Lbs	Poly Bag	\$ 2.69	\$	2.69	De-Husked / debittered Carafa II: Contributes rich color, body, flavor and
CFIID-WEY-5	Weyermann	Carafa® Special II Chocolate - debittered	Germany	2 Row Spring Barley	413 - 450		Poly Bag	\$ 2.49		12.45	aroma without the harsh flavors and astringency typical of dark-colored grains. Use up to 5 %.
CFIIID-WEY-1	Weyermann	Carafa® Special III Chocolate - debittered	Germany	2 Row Spring Barley	488 - 563		Poly Bag	\$ 2.69		2.69	De-Husked / debittered Carafa III: Contributes rich color, body, flavor
CFIIID-WEY-5	Weyermann	Carafa® Special III Chocolate - debittered	Germany	2 Row Spring Barley	488 - 563		Poly Bag	\$ 2.49		12.45	and aroma without the harsh flavors and astringency typical of dark- colored grains. Use up to 5 %.
RYE-WEY-1		Rye Malt		German Rye	2 - 4.3		Poly Bag	\$ 2.59		2.59	Rye lends a dry bread, spicy rye character to any beer, and makes an
	Weyermann		Germany							11.95	interesting addition to smoked and wheat beers.
RYE-WEY-5	Weyermann	Rye Malt	Germany	German Rye	2 - 4.3	5 Lbs	Poly Bag	\$ 2.39	2	11.95	CaraRye® can be used to impart typical rye flavors and aromas, with the characteristic malty and spicy notes. Intense aromas of bread, coffee, dark chocolate and dried ruit also come through. Perfect for all Rye beer styles, especially ones looking to add a bit of color like Rye IPA's, Rye
CRYE-Wey-1	Weyermann	CaraRye® Malt	Germany	German Rye	57 - 75.9	1 Lbs	Poly Bag	\$ 2.89	\$	2.89	
CRYE-WEY-5	Weyermann	CaraRye® Malt	Germany	German Rye	57 - 75.9	5 Lbs	Poly Bag	\$ 2.69	s	13.45	
CHRYE-WEY-1	Weyermann	Chocolate Rye Malt	Germany	German Rye	188 - 300		Poly Bag	\$ 2.89		2.89	Chocolate rye malt adds a unique spicy rye note and milk chocolate
CHRYE-WEY-5	Weyermann	Chocolate Rye Malt	Germany	German Rye	188 - 300		Poly Bag	\$ 2.69		13.45	character to dark beers. Well suited for a dunkelweizen, alt, porter or a stout.
SPELT-IREKS-1	IREKS	Spelt Malt	Germany	German Spelt	2 - 3		Poly Bag	\$ 2.59		2.59	Spelt malt. Ancient variety of modern wheat that has nuttier
		·	Germany	German Spelt							characteristics than wheat and is a nice alternative to wheat in beer.
SPELT-IREKS-5	IREKS	Spelt Malt			2-3		Poly Bag	\$ 2.39		11.95	Mais is set in Oceaner Developing and set to added the other bound
BSMOK-WEY-1	Weyermann	Beechwood Smoked Malt	Germany	2 Row Spring Barley	2.1 - 3.6		Poly Bag	\$ 2.99		2.99	Main ingredient in German Rauchbier, and may be added to other brews to achieve a mild, smooth smoked flavor.
BSMOK-WEY-5	Weyermann	Beechwood Smoked Malt	Germany	2 Row Spring Barley	2.1 - 3.6		Poly Bag	\$ 2.79		13.95	
OSMOK-WEY-1	Weyermann	Oak Smoked Wheat Malt	Germany	Spr. German Wheat	1.7 - 2.4		Poly Bag	\$ 2.99			Top quality Spring German wheat. Fine oak smoked aroma and taste. Perfect for a Grodziskie (Gfatzer Bier). Use up to 100 %.
OSMOK-WEY-5	Weyermann	Oak Smoked Wheat Malt	Germany	Spr. German Wheat	1.7 - 2.4	5 Lbs	Poly Bag	\$ 2.79	\$	13.95	
DME - LME - SORGHUN	I SYRUP - DEXTROSE - LACTO	DSE SUGARS ▼			1						
PDME-BRIES-1	Briess	CBW Pilsen Light DME	US		2 @ 8° Plato	1 Lbs	Poly Bag	\$ 4.99	\$	4.99	Made from Pilsen Malt, and Carapils® malt, 97 % solids, 76 %
PDME-BRIES-3	Briess	CBW Pilsen Light DME	US		2 @ 8º Plato	3 Lbs	Poly Bag	\$ 4.50	\$	13.49	fermentable. Use as a base, as a priming sugar or for starters.
PDME-BRIES-6	Briess	CBW Pilsen Light DME	us		2 @ 8° Plato	6 Lbs	Poly Bag	\$ 3.99	\$	23.95	
GDME-BRIES-1	Briess	CBW Golden Light DME	US		4 @ 8° Plato	1 Lbs	Poly Bag	\$ 4.99	\$	4.99	Made from base melt and Carphile® melt 07.9/ solids 75.9/
GDME-BRIES-3	Briess	CBW Golden Light DME	us		4 @ 8° Plato	3 Lbs	Poly Bag	\$ 4.50	\$	13.49	Made from base malt and Carapils® malt. 97 % solids. 75 % fermentable. Use as a base, as a priming sugar or for starters.
GDME-BRIES-6	Briess	CBW Golden Light DME	us		4 @ 8° Plato	6 Lbs	Poly Bag	\$ 3.99	\$	23.95	
PADME-BRIES-1	Briess	Pale Ale DME	US		6 @ 8° Plato	1 Lbs	Poly Bag	\$ 4.99	\$	4.99	
PADME-BRIES-3	Briess	Pale Ale DME	US		6 @ 8° Plato	3 Lbs	Poly Bag	\$ 4.50	\$	13.49	Made from Pale Ale Malt. 97 % solids. 75 % fermentable. Use as a base or to boost gravity.
PADME-BRIES-6	Briess	Pale Ale DME	US		6 @ 8° Plato		Poly Bag	\$ 3.99		23.95	
WDME-BRIES-5	Briess	CBW Bavarian Wheat DME	US		3 @ 8° Plato		Poly Bag	\$ 3.99	s	19.95	Made from wheat malt and Carapiis® malt. 79 % solids. 75 % fermentable. Use as a base, as a priming sugar or for starters.
					- @ - 100		. or, Day	+ 0.00	~	.5.55	Made from base malt. Caramel 60 and Munich malt. 79 % solids. 75 %

ADME-BRIES-5

Briess

CBW Sparkling Amber DME

US

10 @ 8° P

5 Lbs

Poly Bag \$ 3.99 \$ 19.95 fermentable. Use as a base for amber or dark beer styles.

GLME-BRIES-6	Briess	CBW Golden Light LME	US		4 @ 8° Plato	6	Lbs	Jug	\$ 3.33	\$	9.99	100 $\%$ pure malted barley extract made from 2-Row base malt and Carapiis® malt. Use as a base for all extract beer styles.
WSS-BRIES-6	Briess	BriessSweet White Sorghum Syrup	US		3 @ 8° Plato	6	Lbs	Jug	\$ 3.33	s -	9.99	Made from 100 % pure white sorghum grain. Use as a base for gluten-free beers or to boost starting gravities. Gluten-free.
DEX-MM-1	MO Malt	Dextrose Corn Sugar	US		0	1	Lbs	Poly Bag	\$ 2.59	s	2.59	Great to boost gravity or as a priming sugar for Carbonation. 100 % fermentable.
DEX-MM-5	MO Malt	Dextrose Corn Sugar	US		0	5	Lbs	Poly Bag	\$ 2.39	e .	1.95	Gluten-free.
			US		0	5			\$2.99	\$		Maltodextrin from lowa corn is a non-fermentable sugar used to add body and
MDEX-GPC-1	GPC (Muscatine, IA)	Maltodextrin from Iowa corn			0		Lbs	Poly Bag		\$	2.99	mouthfeel to a beer. Add to the boil (up to 8 ounces in a 5 gallon batch). Maltodextrin does not produce any flavors, and does not add alcohol to your beer. Gluten-free.
MDEX-GPC-5	GPC (Muscatine, IA)	Maltodextrin from Iowa corn	US		0		Lbs	Poly Bag	\$ 2.79		3.95	
DCS-FC-1	Florida Crystals	Demerara Cane Sugar	US		3-6		Lbs	Poly Bag	\$ 2.99			Demerara (Turbinado) sugar is a natural brown sugar with a sucrose content of r less than 99.40%.
DCS-FC-5	Florida Crystals	Demerara Cane Sugar	US		3 - 6	5	Lbs	Poly Bag	\$ 2.79	Ŧ	3.95	
LAC-MM-1	MO Mait	Lactose Milk Sugar (1 Lb Bag)	US		0	1	Lbs	Poly Bag	\$ 3.95	\$	3.95	Lactose is a non-fermentable sugar used to sweeten brown ales and stouts. It gives a beer a creamy texture. Gluten-free.
LAC-MM-5	MO Malt	Lactose Milk Sugar (5 Lb Bag)	US		0	5	Lbs	Poly Bag	\$ 3.39	\$	6.95	
LAKED GRAINS - UN	MALTED, RAW GRAINS V											
RWHT-BRIES-1	Briess	Flaked Red Wheat (M-T ready)	US	Red Wheat	1.0	1	Lbs	Poly Bag	\$ 1.89	\$		Flaked wheat will greatly increase head retention and body when used in an amount as low as 8%. Can be used up to 40 %. From red wheat.
FRWHT-BRIES-5	Briess	Flaked Red Wheat (M-T ready)	US	Red Wheat	1.0	5	Lbs	Poly Bag	\$ 1.69	\$	8.45	
WWHT-GM-1	Grain Millers	Flaked White Wheat (M-T ready)	us	White Wheat	1.0	1	Lbs	Poly Bag	\$ 1.89	\$	1.89	Flaked white wheat will greatly increase head retention and body when used in an amount as low as 8%. Can be used up to 40 %.
WWHT-GM-5	Grain Millers	Flaked White Wheat (M-T ready)	US	White Wheat	1.0	5	Lbs	Poly Bag	\$ 1.69	\$	8.45	
WHT-GP-1	0-I-O G & P	Torrefied (Toasted) Wheat	Canada	Wheat	1.0	1	Lbs	Poly Bag	\$ 1.89	\$	1.89	A whole kernel version of O-I-O's popular wheat flakes. This is a whole
WHT-GP-5	0-1-0 G & P	Torrefied (Toasted) Wheat	Canada	Wheat	1.0	5	Lbs	Poly Bag	\$ 1.69	\$	8.45	kernel grain and will require milling.
FOAT-GM-1	Grain Millers	Flaked Oats (Mash-tun ready)	US	Oats	2.5	1	Lbs	Poly Bag	\$ 1.89	\$	1.89	Steamed, not roasted, flaked oats will add a distinct full-bodied flavor an
FOAT-GM-5	Grain Millers	Flaked Oats (Mash-tun ready)	us	Oats	2.5	5	Lbs	Poly Bag	\$ 1.69	\$	8.45	creamy texture. Can be used in amounts of up to 30% of grist.
FBAR-GP-1	0-I-0 G & P	Flaked Barley (Mash-tun ready)	Canada	Toasted Barley	1.4	1	Lbs	Poly Bag	\$ 1.89	\$	1.89	Flaked barley will lend a rich, grainy taste and will increase head
FBAR-GP-5	0-1-0 G & P	Flaked Barley (Mash-tun ready)	Canada	Toasted Barley	1.4	5	Lbs	Poly Bag	\$ 1.69	s	8.45	retention, creaminess, and body. Use in amounts of up to 40%.
FCORN-BUNGE-1	Bunge Milling	Brewers' Flaked Corn (Mash ready)	US	Yellow Corn	0.8	1	Lbs	Poly Bag	\$ 1.99	s		Brewers' Flaked Corn, produced from yellow corn, will provide depth of character to lighter beers. Use up to 60 %.
FCORN-BUNGE-5	Bunge Milling	Brewers' Flaked Corn (Mash ready)	US	Yellow Corn	0.8		Lbs	Poly Bag	\$ 1.80	s	8.99	
FRICE-GP-1	0-I-O G & P	Flaked Rice (Mash-tun ready)	Canada	White Rice	1.0		Lbs	Poly Bag	\$ 2.29		2.29	
FRICE-GP-5	0-1-0 G & P		Canada	White Rice	1.0		Lbs	Poly Bag	\$ 2.00	¢	9.99	Flaked rice will provide a light, crisp finish to your beer. Use up to 35 %.
		Flaked Rice (Mash-tun ready)								9 6		Will land a day, arise abaracter and a strong sig flavor. Use is amounts
RYEW-GP-1	0-1-0 G & P	Flaked Rye (Mash-tun ready)	Canada	Rye	3.0		Lbs	Poly Bag	\$ 1.89	\$		Will lend a dry, crisp character and a strong rye flavor. Use in amounts oup to 20% of grist total, but 5 - 10% is preferred.
RYEW-GP-5	0-I-O G & P	Flaked Rye (Mash-tun ready)	Canada	Rye	3.0		Lbs	Poly Bag	\$ 1.69	\$	8.45	Can be malted for gluten-free brewing. Can also be milled into buckwheat flour o
BWHT-MM-5	MO Malt	Buckwheat - Raw	US	Buckwheat	1.0 - 2.0	5	Lbs	Poly Bag	\$ 1.89	\$	9.45	sprouted for buckwheat sprouts.
RHULL-RF-1	Riceland Foods	Rice Hulls (Filtration Aid)	US	Rice	0	1	Lb	Poly Bag	\$ 1.99	\$	1.99	Filtration aid. Rice Hulls are used to give your mash an effective filter
RHULL-RF-3	Riceland Foods	Rice Hulls (Filtration Aid)	US	Rice	0	1	Lb	Poly Bag	\$ 1.83	\$	5.49	bed. Tip: Water rinse in a colander before using.
RHULL-RF-5	Riceland Foods	Rice Hulls (Filtration Aid)	US	Rice	0	5	Lbs	Sack	\$ 1.50	\$	7.49	A locally-grown low protein soft winter wheat ideal for Belgian witbiers, American
AWHT-GF-15	Gorenz Family Farms	Alhambra Raw Unmalted Wheat	US	Soft Red Wheat	1.0 - 1.2	15	Lbs	Poly Bag	\$ 0.60	\$	9.00	wheat ales and Belgian ales and lambics. The unmalted wheat may be added directly to the mash with no pre-boiling or perform a cereal mash for best
AWHT-GF-50	Gorenz Family Farms	Alhambra Raw Unmalted Wheat	US	Soft Red Wheat	1.0 - 1.2	50	Lbs	Sack	\$ 0.48	\$ 2	4.00	conversion.
ACORN-GF-15	Gorenz Family Farms	Alhambra All-American Yellow Corn	US	Yellow Corn	0.8	15	Lbs	Poly Bag	\$ 0.53	\$	8.00	lagers and creatinales where com sweetness is desired. Will to com grit
ACORN-GF-50	Gorenz Family Farms	Alhambra All-American Yellow Corn	us	Yellow Corn	0.8	50	Lbs	Sack	\$ 0.40	\$ 2	0.00	consistency using a blender and perform a cereal mash for conversion.
URYE-MM-13.75	MO Malt	Canadian Rye - Unmalted	Canada	Canada Rye	3.0	15	Lbs	Poly Bag	\$ 0.90	\$	3.50	Unmalted Canadian rye adds a dry, crisp character with a strong rye flavor. Use i amounts of up to 20% of grist total, but 5 - 10% is preferred. Cereal mash for
URYE-MM-55	MO Malt	Canadian Rye - Unmalted	Canada	Canada Rye	3.0	50	Lbs	Sack	\$ 0.80	\$ 3	9.99	conversion. Also great for distilling.
UBARL-MM-5	MO Malt	Barley - Raw and Unmalted	US	Atlantic	1.0	5	Lbs	Poly Bag	\$ 1.00	\$	4.99	Unmalted, raw 6-row barley. This barley variety is Thoroughbred. Use in amount of up to 10% of grist total. Cereal mash for best conversion. Also can be used for
UBARL-MM-50	MO Malt	Barley - Raw and Unmalted	US	Atlantic	1.0	50	Lbs	Sack	\$ 0.79	\$	9.99	distilling. This barley can be grown, sprouted for barley grass juice or malted.
	E HONEY for MEADMAKING and											
WFH-MM-3	MO Malt	Missouri Wildflower Honey	Missouri			3	Lbs	Jua	\$ 4.66	s ·	3.99	
·····					1	5			00	Ť	5.00	An amber honey with plenty of flavor 1 ocally produced from honeybees

WFH-MM-3	MO Malt	Missouri Wildflower Honey	Missouri	3	Lbs	Jug	\$ 4.66	\$	13.99	
										An amber honey with plenty of flavor. Locally produced from honeybees
WFH-MM-6	MO Malt	Missouri Wildflower Honey	Missouri	6	Lbs	Jug	\$ 4.33	\$	25.99	in the Meramec River Valley.
WFH-MM-60	MO Malt	Missouri Wildflower Honey	Missouri	60	Lbs	5 gal Pail	\$ 4.33	\$ 2	59.99	
OBH-MM-3	MO Malt	Orange Blossom Honey	Florida	3	Lbs	Jug	\$ 5.00	\$	14.99	

											Orange trees bloom in March and April and produce a white to extra ligh
OBH-MM-6	MO Malt	Orange Blossom Honey	Florida			6 Lbs	Jug	\$ 4	.67 \$	27.99	amber honey with a distinctive flavor and the aroma of orange blossoms
OBH-MM-60	MO Malt	Orange Blossom Honey	Florida			60 Lbs	5 gal Pail	\$ 4	.67 \$	279.99	
BWH-MM-3	MO Malt	Buckwheat Honey	North Dakota			3 Lbs	Jug	\$ 4	.66 \$	13.99	7
BWH-MM-6	MO Malt	Buckwheat Honey	North Dakota			6 Lbs	Jug	\$ 4	.33 \$	25.99	A dark brown honey of strong, distinct flavor.
BWH-MM-60	MO Malt	Buckwheat Honey	North Dakota			60 Lbs	5 gal Pail	\$ 4	.33 \$	259.99	1
BELGIAN CANDI SYRU	P ▼		1				1				
CBCS-DCI-1	Dark Candi Inc.	Clear Belgian Candi Syrup - 1 Lb	Belgium	Beet Sugar	0 SRM	1 Lbs	Bottle	\$ 6	i.99 \$	6.99	and to partially invert sugar. Will not add any color to wort. 1.032 PPG of 8.0
CBCS-DCI-3	Dark Candi Inc.	Clear Belgian Candi Syrup - 3 Lb	Belgium	Beet Sugar	0 SRM	3 Lbs	Jug	\$ 5	i.99 \$	17.97	Plato.
BBCS-DCI-1	Dark Candi Inc.	Blonde Belgian Candi Syrup - 1 Lb	Belgium	Beet Sugar	5 SRM	1 Lbs	Bottle	\$ 6	.99 \$	6.99	rementability and to partially invent sugar. will add golden color to wort. 1.032
BBCS-DCI-1	Dark Candi Inc.	Blonde Belgian Candi Syrup - 3 Lb	Belgium	Beet Sugar	5 SRM	3 Lbs	Jug	\$ 5	i.99 \$	17.97	PPG or 8.0 Plato.
ABCS-DCI-1	Dark Candi Inc.	Amber Belgian Candi Syrup - 1 Lb	Belgium	Beet Sugar	40 SRM	1 Lbs	Bottle	\$ 6	.99 \$	6.99	Made using the same process as the dark syrup. Lighter in color with a less intens candi syrup flavor. Highly fermentable. 1.032 PPG or 8.0 Plato.
ABCS-DCI-3	Dark Candi Inc.	Amber Belgian Candi Syrup - 3 Lb	Belgium	Beet Sugar	40 SRM	3 Lbs	Jug	\$ 5	.99 \$	17.97	
DBCS-DCI-1	Dark Candi Inc.	DARK Belgian Candi Syrup - 1 Lb	Belgium	Beet Sugar	80 SRM	1 Lbs	Bottle	\$ 6	.99 \$	6.99	black in color. It's flavor is full of soft Caramel, vanilla, plums and raisins. Highly
DBCS-DCI-3	Dark Candi Inc.	DARK Belgian Candi Syrup - 3 Lb	Belgium	Beet Sugar	80 SRM	3 Lbs	Jug	\$ 5	.99 \$	17.97	fermentable. 1.032 PPG or 8.0 Plato.
D2BCS-DCI-1	Dark Candi Inc.	DARK2 Belgian Candi Syrup - 1 Lb	Belgium	Beet Sugar	160 SRM	1 Lbs	Bottle	\$ 6	.99 \$	6.99	Sugar syrup obtained from repeated heating and cooling of beet sugar. Intense Caramel flavor and color. 1.032 PPG or 8.0 Plato.
D2BCS-DCI-3	Dark Candi Inc.	DARK2 Belgian Candi Syrup - 3 Lb	Belgium	Beet Sugar	160 SRM	3 Lbs	Jug	\$ 5	.99 \$	17.97	Caramel liavor and color. 1.052 PPG or 8.0 Plato.
CACAO NIBS V		Γ	1	1			1	1			
GHNIB-TCHO-6	тсно	Ghana Cacao Nibs	Ghana, Africa	Cacao		6 oz	Poly Bag	\$ 1.4	499 \$	8.99	Adds deep chocolate, brownie-like, nutty, and coconut flavors and aromas. Use 4 – 6 oz of nibs per 5 gallons in secondary.
FRESH SPICES V		n					1				
SOP-MM-1	MO Malt	Sweet Orange Peel	Spain			1 oz	Poly Bag	\$ 1	.95 \$	1.95	Adds a citrusy, herbal aroma and flavor to Belgian and other spiced ales
SOP-MM-4	MO Malt	Sweet Orange Peel	Spain			4 oz	Poly Bag	\$ 1	.46 \$	5.85	Add at the end of the boil.
BOP-MM-1	MO Malt	Bitter Orange Peel (Curacao)	Morocco			1 oz	Poly Bag	\$ 1	.95 \$	1.95	Bitter orange peel lends an herbal, citrusy flavor and aroma to beers. Used in Belgian Wits, Grand Cru's, and Holiday ales. Add 1 ounce
BOP-MM-4	MO Malt	Bitter Orange Peel (Curacao)	Morocco			4 oz	Poly Bag	\$ 1	.46 \$	5.85	during the last 2-5 minutes of the boil.
LP-MM-1	MO Malt	Lemon Peel (Citrus limon)	US			1 oz	Poly Bag	\$ 1	.69 \$	1.69	Lemon peel adds a citrus lemon flavor and aroma. Use in summer whea beers and any Belgian-style ale. Use 1/4 to 1/2 oz per 5 gal during the
LP-MM-4	MO Malt	Lemon Peel (Citrus limon)	US			4 oz	Poly Bag	\$ 1	.46 \$	5.85	last 0 to 10 min. left of the boil.
CF-MM-1	MO Malt	Chamomile Flowers (German)	Egypt			1 oz	Poly Bag	\$ 1	.95 \$	1.95	Fragrant herb flowers. Sweet Juicy Fruit gum aromas. Use in Belgian Witbiers to add fruitiness and a little extra. Use 1/4 to 1/2 oz per 5 gal
CF-MM-4	MO Malt	Chamomile Flowers (German)	Egypt			4 oz	Poly Bag	\$ 1	.46 \$	5.85	during the last 5 minutes of the boil.
EB-MM-8	MO Malt	Elderberries	Bulgaria			8 oz	Poly Bag	\$ 1	.49 \$	11.95	
EB-MM-16	MO Malt	Elderberries	Bulgaria			16 oz	Poly Bag	\$ 1	.06 \$	16.95	the color and flavor. May also be used to make jelly, jams, marmalade o sauce. High in vitamin C and antioxidants.
GT-MM-1	MO Malt	Green Tea (Yun Wu)	China			1 oz	Poly Bag	\$ 1	.95 \$	1.95	Dark, long curly leaf green tea with distinctive pleasant grassy flavor.
GT-MM-4	MO Malt	Green Tea (Yun Wu)	China			4 oz	Poly Bag	\$ 1	.46 \$	5.85	High in antioxidants. Dry hop in a beer or add using a cold toddy.
HF-MM-1	MO Malt	Hibiscus Flowers, Cut	Morocco			1 oz	Poly Bag	\$ 1	.95 \$	1.95	Cut and dried hibiscus flower petals. Use in a wheat beer, Belgian-style beer or in a mead. Use 1 - 2 oz per 5 gal in the secondary like a dry hop
HF-MM-1	MO Malt	Hibiscus Flowers, Cut	Morocco			4 07	Poly Bag	S 1	.46 \$	5.85	or make an hibiscus tea and add before bottling.
CS-MM-1	MO Malt	Cinnamon Sticks	Indonesia			1 02	Poly Bag		.95 \$	1.95	Use cinnamon sticks in ciders, holiday ales and pumpkin beers for a
CS-MM-4	MO Malt	Cinnamon Sticks	Indonesia			4 07	Poly Bag		.46 \$	5.85	warm-tasting, spicy havor and aroma. Add 1 whole stick to darker beers
COR-MM-1	MO Malt	Coriander Seed	US			1 oz	Poly Bag		.50 \$	1.50	Use ½ to 1 oz coarsely ground coriander to 5 gal of wort at the end of the boil
COR-MM-4	MO Malt	Coriander Seed	us			4 oz	Poly Bag		.13 \$	4.50	before chilling. Flavor intensity is varied by amount used, coarseness of grind and amount of time allowed to stand before cooling.
	MO Malt	Licorice Root	Greece			1 02	Poly Bag		.95 \$		Licorice root adds a pleasing flavor to porters, stouts and dark ales. Also
LIC-MM-1	MO Malt	Licorice Root				4 oz			.46 \$	5.85	sweetens and improves head retention.
STAR-MM-1	MO Mait	Star Anise	Greece Vietnam			1 oz	Poly Bag Poly Bag		.46 3	<u> </u>	Star anise has a similar flavor to black licorice. Use 1/2 - 1 ounce per gallon
						1 OZ					to flavor sodas or specialty beers. Make sure not to crush this additive. Boil for 30 minutes or more to extract flavor.
STAR-MM-4	MO Malt	Star Anise	Vietnam			4 OZ	Poly Bag		.46 \$	5.85	Wintergreen leaves are used as a flavoring agent in beer or soda. To get the
WINT-MM-1	MO Malt	Wintergreen Leaves	US			1 oz	Poly Bag		.95 \$	1.95	flavor, wintergreen leaves must be allowed to sit 3 to 4 days until they
WINT-MM-4	MO Malt	Wintergreen Leaves	US			4 oz	Poly Bag	\$ 1	.46 \$	5.85	,